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QUESTION 1

What are two advantages of using containers? (Choose two.) 

A. Containers can be easily deployed using an ovf format. 

B. ontainers are easily deployable. 

C. Containers reduce networking complexity. 

D. Containers Include all necessary executables, binary code, libraries, and configuration files. 

Correct Answer: AB 

 

QUESTION 2

Which attribute of a host is used to route packs to a non-local subnet? 

A. VLAN trunk 

B. default gateway 

C. NTP server 

D. DNS server 

Correct Answer: D 

 

QUESTION 3

Which replication software preserves NetApp ONTAP storage efficiencies? 

A. SnapMirror 

B. robocopy 

C. Snapshot 

D. Cloud Sync 

Correct Answer: C 

https://community.netapp.com/t5/Tech-ONTAP-Articles/Storage-Efficiency-in-Clustered-Data-ONTAP/ta-
p/86822#:~:text=The%20most%20important%20new%20storage,copies%20of%20a%20primary%20volume 

 

QUESTION 4

What are two benefits of using the capacity pools licensing model for ONTAP Select? (Choose two.) 
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A. This model provides perpetual storage allocation to the nodes 

B. This model provides more efficient use of storage capacity for each node 

C. C. This model provides reduced administrative overhead resulting in lower cost 

D. This model provides dedicated storage capacity to each individual node 

Correct Answer: BC 

 

QUESTION 5

You want complete visibility into your infrastructure to monitor, troubleshoot, and optimize all of your resources,
including your public clouds and your private data center. Which NetApp SaaS product will satisfy these requirements? 

A. Cloud Manager 

B. Active IQ Unified Manager 

C. Cloud Insights 

D. My Services In Cloud Central 

Correct Answer: A 
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